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The following table shows the number of votes polled along with the percentage (%) of valid votes and ratio of valid votes of male and
females among them during an election in a college for the last five years from 2018-2022. Some values are missing in the table (indicat
by ' ") that you are expected to calculate if required. Based on the data in the table. answer the questions that follows.

Year-wise Details of Voters Polled in an Election

Vear Number of votes||Percentage of valid votes| Ratio of Tﬁlifi votes of
polled polled (%) male and females

2018 - - 53

2019 1000 - 54

2020 2000 38% -

2021 - 60% 75

2022 3000 40% -

1
2
3:23:15
4

519
.13:11

. 13:5

In the year 2020, if the number of valid votes of females was 300 then what was the ratio of valid votes of males and females in the samy
year?
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Objective Question

2 1952 | The following table shows the number of votes polled along with the percentage (%) of valid votes and ratio of valid votes of male and

females among them during an election in a college for the last five years from 2018-2022. Some values are missing in the table (indicat
by ' ") that you are expected to calculate if required. Based on the data in the table. answer the questions that follows.

Year-wise Details of Voters Polled in an Flection

Vear Number of votes|[Percentage of valid votes| Ratio of \'alit‘i votes of
polled polled (%0) male and females

2018 - - a3

2019 1000 - 54

2020 2000 38% -

2021 - 60% 75

2022 5000 40% -

If the number of votes increased by 600% from 2019 to 2023 and 76% of the votes were valid in 2023, then the number of valid votes
polled in 2023 was

5320
. 5040
5410
4560
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2018 = — 5:3

2019 1000 — 54

2020 2000 38% —

2021 = 60% 7:5

2022 5000 40% —

5320
. 5040
. 5410
4. 4560
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Objective Question
3 11953
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The following table shows the number of votes polled along with the percentage (%) of valid votes and ratio of valid votes of male and
females among them during an election in a college for the last five years from 2018-2022. Some values are missing in the table (indicat
by’ ') that you are expected to calculate if required. Based on the data in the table. answer the questions that follows.

Year-wise Details of Voters Polled in an Flection

Vear Number of votes|[Percentage of valid votes| Ratio of Tﬁ].i(‘i votes of
polled polled (%) male and females

2018 - - 53

2019 1000 - 54

2020 2000 38% -

2021 - 60% 7:5

2022 3000 40% -

If the average number of valid votes polled in 2019 and 2022 was 1270 then the number of valid votes polled by females in 2019 was

270
300

.210

4. 240

9 <t 715 anfereeT & o 2018 ¥ 2022 7% s ofe aul 2 ol STaw & I719 & SR SId 71U Hdl $f 991 & A1Y-91Y 3y Jal @
SIS a3 | G 3R Aiearsd & du Al BT SuTd a1 T € | ifers H $w 7 ST A MU § (38— gRI SR P
W%@Wﬁﬁmﬁﬁmﬁﬁﬁ&ﬂﬁmgl qiferaeT J ST U 3iPs! & SR IR 3P A 14
T U8} & IR |

A1 U ST ¢ Al &1 949K faawor

b=

e

o ST U Al $I| ST Ay Al &1 | gl IR Afgensi & ay
paresi| = (%) Tl &1 A

2018 — — 53

2019 1000 — 54

2020 2000 38% 25

2021 B 60% 75

2022 5000 40% o

Tfe a9 2019 3R 2022 T STA 7T 3Y TG &1 FT BT 3T 1270 U1, T 2010 T AR R SI6 U 3¢ 74 B T fadt 4
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Objective Question

4 1954 [ Tpe following table shows the number of votes polled along with the percentage (%) of valid votes and ratio of valid votes of male and

females among them during an election in a college for the last five years from 2018-2022. Some values are missing in the table (indicat
by ' ") that you are expected to calculate if required. Based on the data in the table. answer the questions that follows.

Year-wise Details of Voters Polled in an Election

Year Number of votes||Percentage of valid votes| Ratio of Tﬁ].il‘i votes of
polled polled (%0) male and females

2018 - - 53

2019 1000 - 54

2020 2000 38% -

2021 - 60% 75

2022 5000 40% -

In 2021, if the difference between the number of valid votes polled by males and females was 300, then the number of votes polled in
2021 was

1. 3690
2.3000
L3120
. 3440
9 <t 715 anfereeT & o 2018 ¥ 2022 7% s ofe aul 2 ol STaw & I719 & SR SId 71U Hdl $f 991 & A1Y-91Y 3y Jal @
SIS a3 | G 3R Aiearsd & du Al BT SuTd a1 T € | ifers H $w 7 ST A MU § (38— gRI SR P
a1 8) ! afd Saxgedl g1 d STU™ SA®! VAT GRA $I Ul D ot § | difersT J fAU 7 3ias! & SuR R 39P A9 &

o

T Ui & IR SIS
A1 U ST ¢ Al &1 949K faawor
o ST U Al $I| ST Ay Al &1 | gl IR Afgensi & ay
paresi| = (%) Tl &1 A

2018 — — 5:3

2019 1000 — 54

2020 2000 38%% —

2021 — 60% 7:5

2022 5000 40% —

a1 2021 ¥ g1 3R Aigarsil gR1 ST U a8 Tl 1 WA T Sia 300 U1, a1 @y 2021 T STl 7T Hdl &1 Hw&T fbar 4

. 3690
. 3000
. 3120
. 3440
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Objective Question

pi

The following table shows the number of votes polled along with the percentage (%) of valid votes and ratio of valid votes of male and
females among them during an election in a college for the last five years from 2018-2022. Some values are missing in the table (indicat
by ' ") that you are expected to calculate if required. Based on the data in the table. answer the questions that follows.

Year-wise Details of Voters Polled in an Election

Vear Number of votes|[Percentage of valid votes| Ratio of valit‘i votes of
polled polled (%) male and females

2018 - i 53

2019 1000 = 54

2020 2000 38% =

2021 - 60% 7:5

2022 5000 40% -

In 2018, if the ratio of number of votes to number of valid votes was 5:4. then the number of valid votes by females in 2018 is
less than the number of votes polled in the same year.

%o

.60

.30

.35

.70
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Wé&)ﬁﬁﬁﬁﬁ% ﬁm&mﬁﬁmaﬁaﬁmmﬁaﬁﬁ&ﬂﬁaﬁ%lmﬁmwm 51 % YR R 99 419 &
0 U4l & G |

A9 T 1A T Al &1 9991 faaw0

B
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kel ufd=rd (%) Tl BT 3T

2018 — — 53

2019 1000 — 54

2020 2000 38% —

2021 — 60% 7:5

2022 5000 40% —
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Objective Question
6 1956 | Which of the following are the secondary laws of learning?
A. Law of multiple response
B. Law of Associative shifting
C. Law of effect
D. Law of Analogy
E. Law of exercise

Choose the most appropriate answer from the options given below:

.B. Cand E only
. A. B and D only
.A. B and E only
.C.D and E only

fers & fgdios Fon Fefafa dasaa s

A. 95 UGR &1 gy
B. JgdR] ®IFFRU &1 HgH

C. UH1a &T g

D. 3=Udl &1 fah
E. g oy

1= 4T U fa gl § 9 U8l SR 31 994 Pifo:

O

1.$dd B, C.E
2. %A A.B.D
3. %A A. B.E
4.%ad C.D.E

Al
A2
A3
A4

Objective Question

71957 1 A collection of the student's work in an area. showing growth, self-reflection, and achievement is called as.

. Positive practice

. Personal development
Anecdotal record

. Portfolios

I
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Objective Question

8 11958 | Given below are two statements:

Statement I:Contiguity theory gives no place to effect in learning.

Statement IT: Watson's theory gave emphasis on the importance of frequency or exercise in learning.
In the light of the above statements. choose the most appropriate answer from the options given below.

. Both Statement I and Statement II are correct

. Both Statement I and Statement I are incorrect

3. Statement I 1s correct but Statement II is incorrect
4, Statement I is incorrect but Statement II is correct

9 31 oA AT U &:

HY 1: Gafad Risia st 8 yue 80 $18 ®H 6] adT g |

HY I1: 1T BT RIS AR H orafi a1 3namg & 7w R d T gl
SIRIT DY & el H, 71 [$U 7Y fqdedi 5 3 95l SR &1 99 DI

[

HYT IR IS T ©

CFYT IR I SH 3T ®

PYT IR, AT PYT I 3T ®
P I I E. AfPT P I II®
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Ay

4

Objective Question
9 1959 Mr. Kim wants to create a live polling and feedback tool for his students in this context which of the following would be most suitable?
A. Mentimeter
B. Screen-casto-matic
C. Padlet
D. Polleverywhere
E. Book-creator

Choose the most appropriate answer from the options given below:

1.B. Cand E only
2. A, and D only

. A. B and D only
. C and E only

1. fopm 3o faenteial & forg ofla (@rga) Ade ud Wiagfy & U Ue SUsRUl a4 916d] ¢ | 59 5 Haiaed § S 9
Hali¥e Iuged sl

IS Y

e feu 7T fadedl O 9 Tl 3R BT 90 DIfeU:

1. $ddB.C.E
2. $AAA.D
3. $AAA.B.D
4. HAAC.E

Al

A2

A3

A4

Objective Question
10 /1960
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What are the different steps followed by the self-regulated learning?

A. Setting goals

B. Analyzing the task

C. Regulating learning

D. Devising plans

E. Enacting tactics and strategies

Choose the correct answer from the options given below:

R b et
jwiil=-Rwle!
N ol
i Qg p o
» i m g
W wm

@ - faFyafia siferms gRT SRR fafts Sum FaRiiea § 9 S &

A, T iR H=A

B. ®T4 F1 fa=a9r BT

c. 3ffermm &t fafmfaa s

D. TISHI3 B ATahd DA

E. Jfdaai Td Sr=ttaar siafafid a3

i feu U fadedl § 9§ Hel 3Tk B 9g- BIfoi:

b

P oy
O b

> MmUY
[sv @i ve sl

& W
Dwon

Al

A2

A3

Ad

Objective Question

1171961 | Given below are two statements:

Statement I: In Cohort studies. samples are drawn from a generally defined population over time.

Statement IT: In Trend studies. samples are drawn from sepeific well defined population.

In the light of the above statements. choose the most appropriate answer from the options given below.

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are incorrect

. Statement I is correct but Statement II is incorrect
. Statement I 1s incorrect but Statement II 1s correct

e L =
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Objective Question

12719621y APA style of referencing for a journal article, which of the following would come in the end?

. last name of the author

. title of the research article
. page numbers

. DOI number

femdft Si-iat & o o fore U Ot @ deviur et B, Fafiied 8 9 o a1 oid J smam

2 =

Lo

1. @GP @7 3w AH

2. IFEYM TG &1 NS

3. Oy 9=

4.3 37 315 T=AT
Al
1
A2
2
A3 3
3
Ay
4

Objective Question
13 1963
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According to UGC regulations 2018 on promotion of academic integrity . the Institutional Academic Integrity Panel will consist of

1. two members
2. three members
3. four members
4. five members

SHeDTEIHD 8T & Hael Hael 7 o 3t ST, 2018 & SHUR. WIS spraii® 81 i4d & g1l

AR T3]
OH e
AR Y&
. Tlg e

b =

RN 5]

Al
A2
:A3
A4

Objective Question

141964 Fora negatively skewed distribution. the median would be equal to which of the following measures?

A Mean

B. Mode

C. Second quartile
D. Fifth quartile

E. 50% percentile

Choose the most appropriate answer from the options given below:

1. A, B and C only
2.B. C and D only
3. C.Dand E only
4. A.B.C.DandE

BUNTHD =4 3 fqur fadzur g, AT Fafefad & 3 fo i & gaged gl

A T
B. §ga®
c. fedta I
D. U499 GO
E. 50 9 Iq9®
i feu U [ad el O O 9o 3R &1 99 Bifoil:

1. PAd A, B.C
2. $dAB.C.D

3. %dAC.D.E
4.A,B,C,D,E

Al

file:///C:/Users/Administrator/Downloads/57_Live_Philo_B2_E/57_Live_Philo_B2_E_1-150.html 12/101



6/20/23, 6:24 PM 57_Live_Philo_B2_E_1-150.html
A2
A3
fx4

Objective Question

1511965 For which of the following p-values of a test statistic a null hypothesis is likely to be accepted

A.0.320f2%
B. 32%
C.2%

D.0.42

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Band D only
4. Aand C only

et ateror SifeTe! & Mafarad O 9 6 p Ol & [0, Y1 URe e & WiPr 8 &I SHIGHT 8l 82

2% PT0.32
32%
. 2%

.0.42

el fau U fasedl § 9§ I8l 3R BT 94 BIfoid:

Onwpe

1. Pdd A, B
2. ®dd B, C
3. ®dd B.D
4. HAA A, C

Al
A2
A3
A4

Objective Question

16 1966 Sharing of meaning between two positions of thought within a person is called

. Selfish communication

. Intra-personal communication
3. Inter-personal communication
4. Spiritual communication

[ SR
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Al
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Objective Question

17 11967 ziie - o . ——
In decision-making process, group communication helps in maintaining

. Status of top management

. Policy deviation

. Ethnic prejudices

. Equilibrium related socio-emotional concerns

fAofa o= &1 wferar & Ife® doR 9 fod om was § Aeg fad 82

[ SR

e

1. O yEyA 31 gma
2. AifaTra fagem

3. ToIH T
4, T Ja et IO -HTaTTED WRIDR

Al

A2

A3

A4

Objective Question
18 1968
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Which of the following are emphasized in high-context cultures?

A. Use of Colloquialism

B. Fractured sentences

C. Politeness in communication
D. Non-verbal communication
E. Indirect phrasings

Choose the correct answer from the options given below:

1. A B Conly
2. B, C,Donly
3.C.D.EonlyB
4. A, B.E only

Piafifaa S Geal depfdi & e o aa faar o &2

A, ST &1 Sl BT
B. Gftsd a1

C. YR ¥ faqgan

D. IR-YMe3% JIR

E. 34 ara faum

+id fau T fasedl O 9§ Hel 3R BT 9g- BIfo:

1. $aT A, B, C
2. %40 B.C.D
3. $adC.D.E
4. BT A.B.E

Al

A2
A3

A4

4

Objective Question

1911969 | Given below are two statements:

Statement I:Perceptual time is related to the processing of non-verbal cues or signals by us.

Statement IT: Signalic or perceptual communication is related to the induction of others' communication into our brains. and this kind o
communication is also known as semiotics.

In the light of the above statements. choose the correct answer from the options given below.

. Both Statement I and Statement I are true
. Both Statement I and Statement II are false
. Statement I 1s true but Statement II is false
. Statement I is false but Statement II is true

o =

L
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PUA I: TITERS 950 BT Ja9 §AR R IR-TMfeqd Tdhd! a1 SR & TR I 8 |

FUT IL: TP I TAERTTRS SIR P Ha¢ TR & FaR B 9 [GAT H 21id 3 9 8. 3R T9 UPR & TaR &1 Javd
ERIEEZHEIRIE

IIRITd HYH & AT |, A G0 770 fawedi § 9 981 3 &l 99+ Diulg:

PRI G 9T §

HYF 1SRG 3T §

. PYT 1A 8, A DU A &
DY AT R, A PTPYT I HA ©

b =

L

Al
A2
:A3
:A4

Objective Question

20 1970 | Given below are two statements:

Statement I: The Hindu view of communication considers language as a tool to understand an illusory world.

Statement IT: According to the Hindu view of communication. hearing and understanding of language are for realisation of some state ¢
affairs.

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3, Statement I is true but Statement II is false
4, Statement I 1s false but Statement II 1s true

A P RuMUE:

HYT1: TR & feg e F o & srurht 3 &1 gae &1 e I Sar 8 |

DY II: IR & Eg ePBI0 & STaR, YT B G771 3R T0 o TSl & S & U smaxas 31
IWRIGd PYA & Hells J, -4 3T U fadedl & ¥ 96l SR &1 99 BIfo:

PRI GH Ia &

L HYF 1SR GHT 3T §

. PYT 1A ©, A DU 11 3T ©
DY AT R, A PTPUT 1 I ©

b =

S )

Al
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A3

A4

Objective Question

211971 Find the missing term in the following series 0,6,24.60,120,7,336..........

180
210
272
4.316

PimfRiREd e 3 e U8 T R

0. 6. 24, 60. 120. 2, 336. .....

B e

180
210
272

316

2 —

=

Al

A2

A3

A4

Objective Question

22 1972 | 1f MALE' is coded as 31 and FEMALE' is coded as 42, then how will 'ADULT" be coded in the same scheme?

B
[ R R, R ]
o oo e Lh

qﬁ:;MALE'ﬁsl % ¥U H 3R FEMALE' &1 42 & ¥4 § Gefod a1 711 81, T S aieH1 # 'ADULT &1 4 Pefd faar
ST

Lh Lo

PR Bt
DG G Un

[ ]

Al
1

A2 5
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Objective Question

23 1973 || A rectangular sports field has dimensions (150 m x 120 m). Its length is increased by 0.8% and width is reduced by 0.5%. What is the

percent change in the area of the field?

~0.3%
~0.4%

. ~1.3%

4. ~1.6%

U AR Gel &M BT URTEMY 150 m * 120 m & | SHP! Tl 1§ 0.80% D1 JiG SIR A1ST8 H 0.50% &1 Bl il ¢ HaH &
gAhd A HidRId 9ga1d ol B2

o b o

~0.3%
- ~0.4%
.~1.3%
. ~1.6%

[

J S ¥

fM
fAZ
:A3
A4

Objective Question

24 11974 | A and B can complete a work in 10 days: B and C in 12 days: C and A in 15 days. A alone can complete the work in

. 30 days
. 24 days
. 36 days
4. 32 days

AdRBPdi eI B 10 A, BoiRc 12RAH, ceiRA 1S A A QUi ar Tpd B 1 A Siddl o1 Pl foba 1 1 01 % 9oball ©

b =

S

30
24T
36
n2fE

3 =

S V)

Al

1

A2 5

2
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3
Aty

4
Objective Question

25 975 How many kilograms of sugar costing Rs.50 per kg should be mixed with 30kg of sugar costing Rs.45 per kg so that the mixture is wort
Rs.48 per kg?

.50 kg
48 kg
3.45ke
4. 42 kg

745 Uid [, Siad aral 30 femn. =t o 250 ufa fosan, <= faféa ot sme & o 3 fomd z24¢ ofa o g omee

[

1. 50 T3,
2. 48 Ty
3. 45 fooH1.
4. 42 T,

Al

A2

A3

Aty

4

Objective Question

26 11976 Arrange the following group of terms in order of decreasing extension.

A. Mammal
B. Wildcat
C. Feline

D. Animal
E. Vertebrate

Choose the correct answer from the options given below:

LEB EAD
2.B.CA B D
3:B:A B, B, C
4.D,E,A.C,B
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iR WTea- TR Pl a%ad & SfaRie! H 1 afyd PIforg:

A, T
B. g4lE@E@
c. fasm@
D. Uy
E. BIDH]
= U 7Tt fderedl § ¥ 981 SR &1 994 i
1.C,B,E,A,D
2.B.C.A.E.D
3.DyAE,B,C
4.DE,A,C,B
Al
1
A2 5
2
A3 5
3
Ay
4

Objective Question

27 1977 Which fallacy is exemplified in the following statement. "There is no such things as knowledge which cannot be carried into practice . ft

such knowledge is really no knowledge at all"?

. Begging the question
. Hasty Generalisation
3. Red Herring

4. Slippery slope

fFafiad &y= & o w1 abar a7 §: U 1 ol @IS % el oidl § ford oIaeR & g1 Al o 9] ¢ adife Ul I+
ardd § 1 81 781 glan?

2 =

1. TS g9

2. =T g

3.¥s el

4. Taeged eaH
Al
1
A2 5
2

A3 5
3
Ay

4

Objective Question
28 1978

file:///C:/Users/Administrator/Downloads/57_Live_Philo_B2_E/57_Live_Philo_B2_E_1-150.html 20/101



6/20/23, 6:24 PM 57_Live_Philo_B2_E_1-150.html

Which formal fallacy is committed in the following argument: "if your pet is a cat. then it as a tail. Your pet is not a cat. therefore your p
does not have a tail"?

. Existential fallacy

. Denying the antecedent

3. Exclusive Premises

4. Affirming the Consequent

fafafad gfda 5 11 1 e ab aN @
gfe; et sue! araq U] B, o 39% U US B STt dTaq ug] faee Tel ¢ | Sufeig Siads oreq 9% & U U el 672

L2 =

. A ETTRP qhar
. eqare 9y gy

. NG4S YR
. Haraa-faeE g

o=

4

Al
fxz
A3
A4

Objective Question

29 1979 | Given below are two statements:

Statement I:In deductive arguments. the claim is made that conclusions follow with certainly from their premises.

Statement IT: Any inductive argument, if is is good. brings to light in its conclusion what was already burried in its premises.
In the light of the above statements. choose the most appropriate answer from the options given below.

. Both Statement I and Statement IT are correct

. Both Statement I and Statement I are incorrect

3. Statement I 1s correct but Statement II is mcorrect
4, Statement I is incorrect but Statement II is correct

EIEEICAICACURI
®YA 1: FFATES gfda J, 7 arar far o § & fred B w0 3 snuramed! § wiia g g

éﬁmn:ﬁﬁmmgﬁf.uﬁ:Mﬁ%.mﬁmwwmﬁm@mm%ﬁﬁmﬁﬁ&ﬁﬁwﬁﬁ&m
I

JURIT FYF & 3P 1, -iid S0 70 f[dwedi § T 98! SR &1 994 Do

[

PYF1 SR 11 G el 2
FYT ISR TAd & |
DY 18 2, AT By 1 Tad o
.Y 1777 B, Qi U 11 WEl B
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:A1
A2
A3
A4

Objective Question

30 1980 | Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: The argument that sound is eternal because it is produced. is fallacious.

Reason R: In the argument-"sound is eternal because it is produced.” the middle term is contradicted by some other pramana and not by
inference .

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
. A is true but R is false

. A is false but R is true

1 21 B [3U U §. U AHUHYT (Assertion A) P =0 H & g dl GIRT 3D BRI (Reason R) & FU T;

@Y A: T6 gfek b ea+11 21 & iy a8 Seriad giail 6. Ahalgul 6|

HRYTR: "S- W1 § Fih a8 IIad gl 8 - $U gfda F 7er ug A I 72 fobg et s vy & enenfad grar 1
SWRIKT B & SHeliep o, - 3T 1Y fdebedl § 3 9ad Sugad 9Tk 1 90+ Bt

S S

A SRR TE E SRR AT TS oIrREm §

. A 3R R I TSI § SRR AP &I TSN el ©
AT AlPTR R TR ®

AT T AT R TG R

| S

e

Al

A2

A3

A4

Objective Question
31 1981
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What is the name of the computing term described below?

Software that gives the user the chance to try it out free of charge before actually buying it. The software is subject to the usual copyrigh
laws. As a rule. not all the features found in the full version are available at this stage.

. Freeware

. Shareware
. Firmware
. Malware

{2 afofd uikeper e &1 &l AT 87 U1 W diR ford ard o @R1e- 8 Ugd Waie &1 39 (e TaNT S B a8 e
8| U8 UIMEdIR W WAlYSR B & 3egei= 8| Fama: dyul =g o fagme gt faRwdar g9 ==o & 3uas T8l gidl ¢

B e R

1. BIdmR
2. FORATR
3. BHIR
4. AIA0R
Al
A2

A3

Ad

4

Objective Question

32 11982 Given below are two statements:

Statement I: Google Meet is a pure Cloud-based Video conferencing solution.

Statement IT: Google Meet provides clouds storage as well as the ability to open and modify documents online.

In the light of the above statements. choose the correct answer from the options given below.

. Both Statement I and Statement II are true
. Both Statement I and Statement IT are false
. Statement I is true but Statement II is false
4, Statement I is false but Statement II is true

e P Ry E:

HY 1: T Hie T fagis warss snuia difsar SR wregmH g

Y I1: T I TGS HSRUT 3R 1Y B Sxarall & HTare" @iar SR I =7 &1 992 vgH ol ¢
IWRIGd PYA & Hells J, -4 3T U fadedl & ¥ 96l SR &1 99 BIfo:

e L =

PRI GH Ia &

L HYF 1SR GHT 3T §

. PYT 1A ©, A DU 11 3T ©
DY AT R, A PTPUT 1 I ©

b =

S )
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Objective Question

33 1983 Given below are two statements:

Statement I:Solid State Drives (SSDs) are considerably faster then Hard Disk Drives (HDDs) when it comes to data access.

Statement IT: RAM is much faster to write to or read from in caparison to secondary memory such as hard disk. but its main drawback :
its volability.

In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement I are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

Tae sy feumuE:
FHYT I: ST T F YeY T STSfSTP TT5a (HDD) P UET IS T 9154 (SSD) FIH! did et 71

mﬁnzs%ﬁ%wﬁﬁ@?ﬁu@ﬂﬁaﬁwﬁmﬁ AT IGY Ug H 3R U UH e ofid § IR 5@ 530 &l g9t
AT g1

IR Y & 3falie 4, - feU 7T fdredi § T T81 SR &1 997 Piforg:

HYT IR IS T &

FYF IR EA 3T

. PYT I TA B, Wb YT 1 3T &
PYT AR, AT PYT I T &

b =

S V)

Al
A2
A3
fx4

Objective Question
34 1984
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You and your friend decided to go to Goa after you finish your finals. however your demanding parents set a couple of conditions to joir
your friends (see MS-EXCEL spreadsheet below)

A B G D
Hestisses: ofconiitan Minimal results  ||Actual Allowed
S needed results (YesNo)?
5 [Hours spent on 5 3
“lhomework weekly
3| Midterm score 70 68
4| Final exam score 75 77

Imagine your parents ask you to either meet the final exam score condition or both if the two remaining (homework and midterm )
conditions. Which of the following formulas A-C can be used in the cell D2 to answer the question: will you be able to join your friends
with the results given?

A =TF (C4>=B4, "Yeg". IF (AND(C2>=B2. C3>=B3), "Yes". "No") )
B.=1IF (AND ( C2>=B2. C3>=B3), "Yes". IF ( C4>=B4, ":Yes", "No") )

C.=1IF (OR (AND (C2>=B2, C3>=B3), C4>=B4), "Yes", "No")
Choose the correct answer from the options given below:

1. A and B only
2. Aand C only
. B and C only
4 A BandC

i T guT B & 91 21 3R 3 i 5 Miar 9= &1 i e g1 9wt e SR aran-faar 3 ot o= i &%
Y H B AT 3 6 g 3o o <@l §1 (T T 19-Uaa 9istie <)

[F¥]

A B ¢ D
f%m?ﬂ’r
RIEEE R ICEC A G GE2
Rl 5 At BlEwie oo
(Yes/MNo)
ST EeE W |,
7 2 3
3 [HeETaly Hfd 70 68
4 3ifcs Tienm sm 75 77

BT P [ 31oes A1a fUar sy sifc aian oie et = suar A9 SH1 (T8 PR @ Tmafy) 2l & R $A & U 8
©1 59 UY 1 IR & & A0 MY 9 Gl A- B T ¥ 01§ €2 § 3 [ 1 &1 i &1 e uRond 8 &1 &g o= il &
1Y S 2

A.=TF (C4>=B4, "YES", IF (AND(C2>= B2, C3>=B3). "YES", "NO"))

B. =IF (AND(C2==B2, C3>=B3),"YES", IF (C4>=B4. "YES", "NO"))
C.=IF (OR(AND(C2>=B2, C3>=B3). C4 >=B4), "YES", "NO")

A fau 6 fasedl | T 981 TR &1 99 Bifoig:

1. $aT A RB
2. HIAAIARC
3.%gaB AR C
4. A,B3RC

Al

1

A2 5

2
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Objective Question
35 1985

57_Live_Philo_B2_E_1-150.html

Match List I with List IT

Computer term

[Router

I. |The rules that govern the division of a file into packets and subsequent reassembly of the file from those packet:

[Firewall

1L |An organization assigned responsibility for reducing problems and mcidents related to computer security.

CERT-In

II1. |A device that provides perimeter security by filtening packets.

o[a[=[>

Transmission Control Protocol

]

V. |A device that uses the Internet Protocol (IP) to send packets across network.

Choose the correct answer from the options given below:

1. A-IV. B-IL. C-III. D-1
2. A-IV. B-IIL C-II. D-I
3. A-L B-IIL. C-IL. D-IV
4. A-I1. B-III. C-IV. D-I

Objective Question
36 1986

file:///C:/Users/Administrator/Downloads/57_Live_Philo_B2_E/57_Live_Philo_B2_E_1-150.html

el 1ep1 gl 11 9 e sifore
T G
FUTI UG gRyTaT
ENEIREE ﬁﬁﬂ-ﬁﬁﬁmaﬂﬂﬁqrﬂ?
A R L [3 Udbei § BISal &l U: Sl ®I i
&3 ard (ae
hRICR R4 Haeh THwarel g g1l &
B. Al -t & SeRaifi aren GeH
o [RRa- | [Pbel P fheex o= IRy JRaf v o3
= Bk E I
D, [FRU A0 |\ el & UR Ude HoH & [y gee
) " [FeieiE (TS Ul ST WOR @ arel gidd
iR fdeedi § 9 el SR &1 99 DIl :
1. A-IV. B-IL, C-III, D-I
2. A-IV, B-IIL, C-11, D-I
3. A-L B-IIL C-II, D-IV
4. A-1, B C-TV, D-I
Al
|
A2 5
2
A3
3
Aty
4
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When was the Environmental Protection Act (1986) last amended .

. 1990
. 1991
.1992
. 1993

qafaRur TRefur T (1986) T 3ifaw R Ao wa fovar T U

B

. 1990
. 1991
. 1092
. 1993

R S R

Al
A2
A3
A4

Objective Question

37 1987 | Given below are two statements:

Statement I: Stratospheric ozone is known as 'good ozone'.

Statement IT: Ozone at the surface level is a serious health hazard and known as pollutant.
In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct

2. Both Statement I and Statement II are incorrect

3, Statement I is correct but Statement II is incorrect
4, Statement I 1s incorrect but Statement II 1s correct

e P Ry E:

HYF 1: TAA 31 TS 3o FFUd g gl

DY II: TRITT TR 3o+ W & g TR Hifem § iR ugse & U g Ia ¢
IWRIGd PYA & Hells J, -4 3T U fadedl & ¥ 96l SR &1 99 BIfo:

PRI GH Ia &

L HYF 1SR GHT 3T §

. PYT 1A ©, A DU 11 3T ©
DY AT R, A PTPUT 1 I ©

b =

S )

Al

file:///C:/Users/Administrator/Downloads/57_Live_Philo_B2_E/57_Live_Philo_B2_E_1-150.html 27/101



6/20/23, 6:24 PM 57_Live_Philo_B2_E_1-150.html
A2

A3
A4

Objective Question

38 ||1988 Many nations blend petrol with ethanol to reduce the emission of CO. The mixture is known as

. Gasol

. Petrohol

. Gasohol

. Ethopetrol

3H® Y CO P Iedoi 1 Bl AH & [T U2 1 U & |1y fHreur $=d 81 78 fiyu e 0 3 g =u 1 3 82

A

1. 99

2. Ueield

3. e

4. 3YT9SE
Al
A2
A3

A4

Objective Question

39 1989 Given below are two statements:

Statement I:Screen chamber in wastewater treatment is used to remove small and heavy suspended solids.

Statement IT: Grit chamber in waste water treatment is used to remove large floating materials.
In the light of the above statements, choose the most appropriate answer from the options given below.

. Both Statement I and Statement IT are correct

. Both Statement I and Statement II are incorrect

. Statement I is correct but Statement II is incorrect
. Statement I is incorrect but Statement IT is correct

o=

N V]
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e F Ry E:

PY I: ST 5 ITIR § ThI SoR B WO BIE 3R HRI Tafad 319 Ueidl &l g & o fear snar g1
FYT I1: TR T STIR F e FaR &1 vt foR arelt geg amell &1 germ & g fFarsmar g1

SWRIdd Y & 3HTalle 1, =i fqu T fadedl § ¥ 9el SR o1 99 SIfS:

PRI G 9T §

FYF 1R GH 3T §

. PYT 1A 8, AP PUT I 3T &
DY TR, A PT P 1 HA ©

b =

S Y

Al
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Objective Question

40 11990 Which one of the following gases has the maximum Global Warming Potential(GWP)

1. Methane (CHy)

2. Nitrous Oxide (N,0)

3. Carbon dioxide (CO,)
4. Carbon Monoxide (CQO)

Fofafaa d T oF @ T s T S 9 geUshae B HRUI 99 9ol 2

1. 9194 (CH,)

2. TECH SHIFHISS (N,0)
3. HIA SEAHTEIES (CO,)
4. BIE- THIBTEEES (CO)

Al
A2
A3

Ay

4

Objective Question
41 1991
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Objective Question
42 11992

B

Objective Question
43 11993

4

1. Reid college, Lucknow

2. Daly college, Indore

3. St. Xavier college, Kolkata
4. Forman College. Lahore

FafafEa o 9 98 oH 91 Terfadrad § S Woadl §d 30 ©0 9 YR JepHRI 1 R & fog or

1. 3 BIel, TGS

2. 3T BIal, EER

3. Ye SfduR e, HIdHdl
4, B B, der

. ICSSR
.AICTE

ICHR

. ICPR

57_Live_Philo_B2_E_1-150.html

The college that was exclusively meant for the education of Indian princes before independence was

Which of the following institutions was established before Indian independence?

R Wrei=ar 3 ugd Feftited 9w 8§ 8 gt e o1 1 o
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Which of the following were the recommendations of the Radhakrishanan Commission regarding medium of instruction in higher
education?

A. The medium of higher education should be in regional language.

B. Immediate steps should be taken to prepare scientific and technical terminologies in federal languages.
C. All the federal languages must be written in Devanagari seript.

D. International and scientific terminological words should be avoided.

E. English should be banished from the higher education field in India immediately.

Choose the correct answer from the options given below:

. A. B and C only
.B. Cand D only
. C. D and E only
.A. D and E only

S e & SFexE & 7199 & ey § IUISWE SN &1 9 § 9 St srRiam o

A. 3= TRren 1 H1ey Aftg YT g1 =nfeyl

B. Tdig ymw3fi § a9e g a@- @] UsSadl dUR H- & [ dahTd Hed 381U o =1et|
c. uft It yrerefl &1 aifand =9 3 gt § foman s =nfgul

D. 3 q ol Wearadil o Ysal 1 URER bl ST 91gy|

E. HRd H = &1 & F 3Gl ol dabTd §ieshd B o1 =g

A fGu T fasedl © 9 98l SR &1 994 pifoi:

b =

Lo

1. $aI A, B, C
2. $4d B, C.D
3. $4dC.D.E
4, $ddA.D.E

Al
A2
A3
A4

Objective Question

44 1994 Given below are two statements:

Statement I: According to NEP. 2020, value-based education shall include universal values and scientific temper.

Statement IT: Value based education did not include life skills and constitutional values as per the NEP document.
In the light of the above statements. choose the correct answer from the options given below.

. Both Statement I and Statement II are true
. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II is false
4, Statement I is false but Statement II 1s true

o=
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e F Ry E:

HY 1: AP & A, 2020 F STER. Yea enia Rian ¥ A i Je R aw-e T-Een i sri |
FYT I1: TP R A S0 B SR, G SHenie Rien § siie=-siwre ok dauite geg it 98 6
SWRIdd Y & 3HTalle 1, =i fqu T fadedl § ¥ 9el SR o1 99 SIfS:

PRI G 9T §

FYF 1R GH 3T §

. PYT 1A 8, AP PUT I 3T &
DY TR, A PT P 1 HA ©

b =

S Y

Al
A2
:A3
A4

Objective Question
45 (1995 Higher education in ancient India was based on an integrated system of
A. Ahimsa (Non-violence)
B. Dharma (Religion)
C. Darshan (Philosophy)
D. Arth Shastra (Economics)
E. Niti (Ethics)

Choose the correct answer from the options given below:

.A. B and C only
.A. Cand D only
.A.D and E only
.B. C.D and E only

g YRd H 3= e Fg9 8 9 f6g-fog of S ord vondl IR efemid i

A g
B. uH
c.38H

D. 3T
E. Hifd

A feu Ty fosed! § 9 98l SR &1 994 Difoig:

R

1. $aAA, B, C
2.$AAA.C.D
3.$a0A.D.E
4. $90B.C.D,E

Al
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Objective Question

46 11996 | pead the following passage and answer the question (46-50) that follows:

Political freedom and economic justice are two sides of democracy: both are essential. We should lay stress on the improvements of the
economic conditions of the people as well as on liberty and freedom. No society can claim to be democratic if it does not permit politica
liberty. freedom of conscience, freedom of choice between parties, and opportunities of peaceful and orderly changes of Government.

In the context of the international situation. there are many misunderstandings. We can build peace even on the basis of
misunderstandings. When once peace is built, misunderstandings will diminish.

We . in our country. are now engaged in the enterprise of effecting a social and economic revolution. The word 'revolution’ need not scar
us. It does not mean barricades and bloodshed. It means only speedy and drastic changes. We are interested not only in our objectives bu
in our methods: not only in what we achieve but in how we achieve. Through peaceful, constitutional processes we won our
independence and integrated our country; and now we are striving to raise the material standards of our people. Even if we meet defeat i
our attempt to replace force by persuasion. the politics of power by the politics of brotherhood. we are convineed that the defeat will be
only temporary, for goodness is rooted in the nature of things: kindness and love are as contagious as unkindness and hate.

For a democratic society it is essential to have

A. Complete literacy

B. Political freedom

C. Freedom of individual
D. Population control

E. Economic justice

Choose the correct answer from the options given below:

. A, B and E only
.B. Cand D only
3. C and E only

4.B. C and E only

[
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A T 31 OGP GleU 3R WP 4 14U 7T 94T & IR SITom:
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Objective Question
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Read the following passage and answer the question (46-50) that follows:

Political freedom and economic justice are two sides of democracy: both are essential. We should lay stress on the improvements of the
economic conditions of the people as well as on liberty and freedom. No society can claim to be democratic if it does not permit politica
liberty. freedom of conscience. freedom of choice between parties, and opportunities of peaceful and orderly changes of Government.

In the context of the international situation, there are many misunderstandings. We can build peace even on the basis of
misunderstandings. When once peace is built, misunderstandings will diminish.

We . in our country. are now engaged in the enterprise of effecting a social and economic revolution. The word 'revolution’ need not scar
us. It does not mean barricades and bloodshed. It means only speedy and drastic changes. We are interested not only in our objectives bu
in our methods: not only in what we achieve but in how we achieve. Through peaceful, constitutional processes we won our
independence and integrated our country; and now we are striving to raise the material standards of our people. Even if we meet defeat 1
our attempt to replace force by persuasion. the politics of power by the politics of brotherhood. we are convineced that the defeat will be
only temporary, for goodness is rooted in the nature of things: kindness and love are as contagious as unkindness and hate.

The word 'revolution’ in the passage implies

1. Bloodshed

2. Violent protests

3. Political transformation

4. Social and economic transformation
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48 11998 | pead the following passage and answer the question (46-50) that follows:

Political freedom and economic justice are two sides of democracy: both are essential. We should lay stress on the improvements of the
economic conditions of the people as well as on liberty and freedom. No society can claim to be democratic if it does not permit politica
liberty. freedom of conscience. freedom of choice between parties, and opportunities of peaceful and orderly changes of Government.

In the context of the international situation, there are many misunderstandings. We can build peace even on the basis of
misunderstandings. When once peace is built, misunderstandings will diminish.

We . in our country. are now engaged in the enterprise of effecting a social and economic revolution. The word 'revolution’ need not scar
us. It does not mean barricades and bloodshed. It means only speedy and drastic changes. We are interested not only in our objectives bu
in our methods: not only in what we achieve but in how we achieve. Through peaceful, constitutional processes we won our
independence and integrated our country; and now we are striving to raise the material standards of our people. Even if we meet defeat
our attempt to replace force by persuasion, the politics of power by the politics of brotherhood. we are convineed that the defeat will be
only temporary, for goodness is rooted in the nature of things: kindness and love are as contagious as unkindness and hate.

Which of the following traits of human nature are considered to be contagious?

A, Honesty
B. Kindness
C. Love
D. Hate
E. Integrity

Choose the correct answer from the options given below:

1. A. B and C only
2.B. C and D only
3. Cand D only

4.B.D and E only
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Objective Question

Read the following passage and answer the question (46-50) that follows:

Political freedom and economic justice are two sides of democracy: both are essential. We should lay stress on the improvements of the
economic conditions of the people as well as on liberty and freedom. No society can claim to be democratic if it does not permit politica
liberty. freedom of conscience, freedom of choice between parties, and opportunities of peaceful and orderly changes of Government.

In the context of the international situation. there are many misunderstandings. We can build peace even on the basis of
misunderstandings. When once peace is built, misunderstandings will diminish.

We . in our country. are now engaged in the enterprise of effecting a social and economic revolution. The word 'revolution’ need not scar
us. It does not mean barricades and bloodshed. It means only speedy and drastic changes. We are interested not only in our objectives bu
in our methods: not only in what we achieve but in how we achieve. Through peaceful, constitutional processes we won our
independence and integrated our country; and now we are striving to raise the material standards of our people. Even if we meet defeat i
our attempt to replace force by persuasion. the politics of power by the politics of brotherhood. we are convineed that the defeat will be
only temporary, for goodness is rooted in the nature of things: kindness and love are as contagious as unkindness and hate.

Economic standards of people could be raised by

. Force

. Politics of power

. Politics of Brotherhood
. Politics of exclusion
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Objective Question

5012000 pead the following passage and answer the question (46-50) that follows:

Political freedom and economic justice are two sides of democracy: both are essential. We should lay stress on the improvements of the
economic conditions of the people as well as on liberty and freedom. No society can claim to be democratic if it does not permit politica
liberty. freedom of conscience, freedom of choice between parties, and opportunities of peaceful and orderly changes of Government.

In the context of the international situation. there are many misunderstandings. We can build peace even on the basis of
misunderstandings. When once peace is built, misunderstandings will diminish.

We . in our country. are now engaged in the enterprise of effecting a social and economic revolution. The word 'revolution’ need not scar
us. It does not mean barricades and bloodshed. It means only speedy and drastic changes. We are interested not only in our objectives bu
in our methods: not only in what we achieve but in how we achieve. Through peaceful, constitutional processes we won our
independence and integrated our country; and now we are striving to raise the material standards of our people. Even if we meet defeat i
our attempt to replace force by persuasion. the politics of power by the politics of brotherhood. we are convineed that the defeat will be
only temporary, for goodness is rooted in the nature of things: kindness and love are as contagious as unkindness and hate.

Given below are two statements:
Statement I: In international arena. understandings are a per-requisite for building peace.

Statement IT: India achieved its independence and integration through peaceful revolution.
In the light of the above statements, choose the correct answer from the options given below.

. Both Statement I and Statement I are true
. Both Statement I and Statement IT are false
3. Statement I 1s true but Statement II 1s false
4, Statement I is false but Statement I is true

[

file:///C:/Users/Administrator/Downloads/57_Live_Philo_B2_E/57_Live_Philo_B2_E_1-150.html 38/101



6/20/23, 6:24 PM

51 1900301

57 Live_Philo_B2_E_1-150.html
frafefad Teiw #f aFyde gfeu iR 39 i 3 Tu usl & ST i

RIeIf® WaAd 3R e o diedd & &1 Ueq g, &l of sifHard €1 58 anil @t afife fufaal # gur & wry-wry w@rdi=a
R @z W it g &1 F1eu | afe Bis o gure Ae-iie W@reiHdr, SioR1e o1 WaFd, fafis gl & & fdeed g3 @i
WAAdT qUT IR B Yool 3R ogafyd agamal & SIawRi &1 SHfd el &aT & dl 98 alsdiE® e BT graT el R JPdl |
SaRIST fRUfd & e § @ Taaweliyl €1 1 Tadweigl & yR 1R Wl Wifd RId &= ¥od §1 b §R ifd RAd g1 &
aTE TqweHdl $HF gl S|

T ST 3= H ofF grTiore SiR fififer wifa @ & Sem © @ gU R 8 wifd e ¥ 1 fid 81 1 savaedl ol § ) 59T o
THTa! SR GA-ERET 71 ¢ | 59 31 Saq 3 3R 93 o P15 | 85 Had 0+ I5341 B1 6l Tol, F1ed I UKl P g
fafrat o1 ot e e 8, Faw e o & e, SfSp W 37 ot e e €1 g9 wifagul, Saune wibarst & Arerm § s
AT T &1 SR S0 G 1 Uebd] & YA H Siel, SR o 87 U Al & Hifde TR B $41 301 & [A¢ WareRd €1 75 ao
s T & o0 & WM O 37 BT AR IR PI IS D T TR ST Pl ST PTG PR b 30 vy H wRrory e
&. a1 2t 57 ua1 [y ¢ % U8 Woig daa srurdt s, Fifes srors dieil &1 weia § [Hied 3. Sargar SR 99uE 3o gl
T & forat o Fidaar Sik gom |

TR FEfume

TYF I: SAPT &7 H il RIfId H3 & A8 1ot 995 qafuean

HYF I1: YRA - TAqU i & T1egd § S(9=1 WdaFdl 3R UHIHRUI Bl U1 (a7
SWRITd DY & el H, 14 [T ¢ fawedi H F 96l SR &1 90 HIfoI:

L P AR IS TT &

2. FYF 1 AR I SH AT

3. PYT 1T ©, A SYT 11 T §
4. FYTI IS AP P I TI®

Al

1
A2 5
2
A3 3
3
Ay

4

Objective Question

Nozick advocates the theory of justice as:

1. Fairness

2. Right

3. Entitlement
4. Liberty

TifsTe ama & Rigid &198 39 9§ 39d &
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